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Puc. 3. Oumi6Ka OTKJIOHEHHA OT HyIs PACCYHTAHHOTO 3HAUCHHS AR '
B TOUKE [IEPECeueHHUs anmpoKcuMupylomieit kpusoii o gopmyne (1)
C FOPU30HTAIBHOI OCBIO TIPU U3MEHEHNH 3HAYCHHUS IapameTpa B,

u (UKCHPOBAHHBIX 3HAYEHHUAX NapaMeTpoB B, = 49,13 mTn u B, = 8,73 mTu.
Homepa kpuBBIX COOTBETCTBYIOT CIEAYIOIIUM 3HaUE€HUAM napamerpa B, mTi:
1-430,6; 2—-428; 3 -425; 4415
Fig. 3. The error of the deviation of the calculated AR value from zero at the intersection point
of the approximating curve by the formula (1) of the X axis with changing parameter B,
and the fixed values of the parameters B, are 49.13 and 8.73 mT.

The numbers of the curves correspond to the following values of the B parameter, mT:
1—-430.6; 2 —428; 3 —425;4—415



